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TrigonometryExercise3 for No.9395

57T
A=z 6= _ _
4 1=270° .6=(-570)°
A 2 2=(-315)°  .7=840°
6 6 0 0
3=(-150)° .8=(-2655)
47I 291I o)
Nol=| 3=—"  8=- ,No2 = o 270
3 3 4=120 9=|—
3n "
5=2160° .10=|-——
Tn L T J ]
S=— .10=05
i 2 ]

1
No3 = [ Conditionl =[Sin(0) < 0], Condition2 = |:COS(9) = } Quest = Tan(e)

«b«\j

1

No4 = [ Conditionl = [Tan(0) = -7], Condition2 = [0 < Sec(0)], Quest = Csc(0)], {

No5 =[A =0,B =§, Condition :{Csc(e) zg}, Quest =[Sec(0) + Cot(e)]} ,[

1
e
= e
L 1

3n
N06:{A =7, B :7’ Condition = [Sec(0) =-3], Quest =[Tan(0) — Csc(@)]}, ,

N07:{A =3Tn,B:2 n, Condition = [Csc(0) =-2], Quest =[Cot(9) +Cos(9)]} ,{

L____J‘\‘:iw
L 1

N08:{A:§,B:n,Condition:{COS(G):_l}Quest—[Sln(G) COt(e)] [
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TrigonometryExercise3 for No.9419

R 17 rt |
I=——  6=- _
2 4 1=180°  .6=(-1215)°
e e 2=(-240)°  .7=(-870)°
6 3 3=315° .8=1020°
Sw 83« o
Nol=| 3=— 8= , No2 = . 90
4 6 4=150 9=|—
T
-2 gy 0
! o B 0 [ 630
5=(-360)° .10=|-
191 L oI
S=-— = .10=65

No3 = [ Conditionl =[Cos(0) < 0], Condition2 = [ Sin(0) =

3
g}, Quest = Cot(0) }, ,
No4 = [ Conditionl =[Cot(0) = 5], Condition2 =[Sin(0) < 0], Quest = Cos(0)],

T
N05=[A :0,3:5, Condition :{Sec(e)z

L 1

2

[

-

2},Questz[Csc(6)+C0t(9)]}, [
No6:[A _ = B=n, Condition :[Sin(G) %} Ouest = [ Tan(0) + Sec(@)]}, {
3

N07=[A =m,B= ;, Condition z[Cos(O) =§}, Quest =[Csc(0) — Cot(e)]}, ,{
3

N08={A =—R,B= 2 nt, Condition =[Cot(0) =-1], Quest = [Sec(0) + Csc(e)]}, ,[
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TrigonometryExercise3 for No.9428
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[ 297 |
I=m 6= - -
3 1=90° 6=1755°
Lo 4r D¢ 2=315° 7=1200°
3 6 3=(-60)° 8=2370°
i 25w N
Nol=| 3=—-—7" 8= , No2 = R 360
6 4 4=150 9=|—"
T
4== 9=3 0
: 4 : _ ° _ 720
S5 =(-2250)" 10=|-—"
19 L yis
5= A0=-55
L 2 _
y o1 g o
No3 =| Conditionl = Sln(e):2 , Condition2 =[Sec(0) < 0], Quest =Cot(0) |, , v
No4 = [ Conditionl =[Cos(0) < 0], Condition2 =[Cot(0)=1], Quest =Sin(0)], , [—()}
o 1 2)
No5 = AZO’B:;’ Condition = Cos(e):g , Quest =[Csc(0)+Tan(0)] |, , —(
3n ) 2)
Nob6 = A:n,B:T, Condition = [Cot(0)=2], Quest =[Sin(0) + Cos(0)] |, , —(

N07=[A ZTTE,B=2 n, Condition =[Tan(6) :%}, Quest =[Sec(0) + Csc(e)]}, , —)}

o
n ] )
No8 = {A =5, B =mn, Condition =[Sln(9) =E}, Quest =[Sec(0) — Cot(@)]}, , {—(}
[Page = 0003]
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TrigonometryExercise3 for No.9459
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i T 37w |
d=— 6= _ .
2 6 1=270° 6 =2640°
L 4 B 2=(-30)° .7=(-855)°
3 4 3=60° .8=(-2670)
Tm 10« o
Nol=| 3=—""" 8= ,No2 = o 90
6 3 4=135 9=|—
T
4=—— 9=7 o
T4 ' o eeno [ 500
5=2880° .10=|-
AN L T )
S=-T 10=335

1
No3 [Condmon] =[Tan(0) < 0], Condition2 = [ Sin(0) = —} Quest = Cos( 9)} , [
No4 = [ Conditionl = [ Tan(0) = 4], Condition2 = [Sec(0) < 0], Quest = Csc(0)] [

2

aaE

No5 = [A OB—— Condition [Cot(e)——} Quest:[Cos(G)—Csc(e)]} ,{
Nob6 = [A—;B T, Condztzon—[Csc(G)— }Quest:[Tan(9)+Sec(6)]} ,{

No7 [A m,B= 2,Conditionz[Cos(G):%},Quest:[Sin(G)—Tan(G)]} ,[
3n

T
| I I S

[Page

|

- {A__B 2TECondltlanz[COt(e)zf}’Quest=[Csc(9)—Sec(9)]} ’{ﬁ}

M
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TrigonometryExercise3 for No.9476

T 47 1
I=—  6=- i} _
2 4 1=270° 6=1230°
PYNLLE. S F R 2=30°  .7=(-2745)
6 6 3=120°  .8=1680°
47[ 207T o
Nol=| 3= 8= . No2 = . 360
3 3 4=(-135° 9=
. T
4 =— .9==1 630 °
4 5=(-720)° .10:(—)
15w L T A
S5=— 10=45

4= Conin= 2} W }
No8=| A= 5, B =m, Condition =| Sin(0) = Quest =[Cot(0) + Cos(O)] ,
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TrigonometryExercise3 for No.9491
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i 3n 137 |
I=— 6= . .
2 6 1=90° 6=2010°
Lo 2t Pm 2=300° 7=945°
3 4 3=(-315)° .8=(-1740)°
lln 2OTE o
Nol=|.3=- == ,No2 = o 180
6 3 4=(-30) 9=|—
T
K o
.4=—4 9=5 . 810
5=(-1350)° .10=|-——
AN L T
5= 10=-25

1
No3 = [Condmon] {Sln( 0)= —} Condition2 = [Cos(0) < 0], Quest = Tan( 9) [

\a«\g

1

No4 = [ Conditionl = [ Tan(0) =-7], Condition2 = [ Csc(0) < 0], Quest = Csc(0)], [

No5 {A 0,B=— Condltlonz[Sec(9)=7],Quest:[Cot(9)+Sln(9)]} ,[‘
No(S:[A:377T B—2n,Condition:{Sin(O):%},Quest:[Tan(O)—Cos(O)]} ,[
T
=| 4

e
L=

No7 [ =n,B=37,Conditionz[Cos(O)z?},Questz[Csc(e) Cot(e)]} ,{
T

No8 {A—_B n, Condition = CSC(9)=2]’Q”eStz[SeC(e)+Tan(e)]} ’[1/7}

M
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|
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TrigonometryExercise3 for No.9633

89
IZT[: 6: _ _
6 1=90° .6=2370°
; 4 3=225°  .8=(-1860)°
Il n 41 n ;
Nol=|.3= 8= , No2 = . 90
6 3 4=(-60)° 9=|—
T T )
i =0 ) 810
5=(-720)° .10=|—
Tn L T )]
.5:7 10=0.5

1
No3 = [ Condition] =[Cot(0) < 0], Condition2 = [Cos( 0)= 5}, Quest = Csc( 6)}, , {
No4 = [ Conditionl =[Tan(0) = -1], Condition2 =[Sin(0) < 0], Quest = Cos(0)], [

No5 = {A =0,B= g, Condition = {Tan(e) = i} Quest =[Cos(0) — Sln(G)] , [

s -6
Nob6 = [A = 5, B =m, Condition = { Sec(0) = } Quest =[Csc(0) + Cot(e)] , [

No7 = {A—%B 2 1, Condition = [ Cot(0) =-1], Quest =[Cos(0) — Csc(e)]} ,{

5

o«

DRI ISR IO NA D 19:9:0:0:0:0.0:0.0.0.0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0:0.0.0.9.0.0.0.0.0.0.0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.0.0:0:0:0:0:9:9.9:0.0.0:0:0:0:9:9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.4

N08={A =mn,B =377t, Condition = [Tan(0) = 1], Quest =[Cos(0) + Sin(e)]}, ,[
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TrigonometryExercise3 for No.9711

T 47
I=— 6= i} _
2 4 1=180° .6=12280°
PYNELAN ¥ 2=(-60)° .7=(-1470)°
6 6 3=315° 8 = 405°
57 197 o
Nol=| 3=— 8= . No2 = . 360
3 3 4=(210° 9=|—
T
o2 s o
A== 9= ) ) (450
5=(-360)° .10=|-—
231 L T A
S=-" 10=35

No3 = [ Conditionl = [ Sin(0) = %}, Condition2 = [ Tan(0) < 0], Quest = Cos( 9)}, , [—(}

No4 = [ Conditionl = [ Cot(0) =4], Condition2 =[Csc(0) < 0], Quest =Sin(0)], , {—()}

‘\‘\,
[

No5 = {A =0,B= g, Condition = [Tan(e) = Zl Quest =[Sec(0) — Sin(e)]}, , [
3w -2

Nob6 = {A T, B—T Condmon—[Sm(G)— }Quest—[Sec(e)—i-Cot(B)] [

No7 = [Az; B=m, Condztzon—[Cos(e)— 2} Quest—[Tan(6)+Csc(9)] {

4= 82 Comtion < cor0)=3 | | 2]
No8 = A=T,B=2n, Condition = Cot(9)=z , Quest =[Csc(0)—Sec(0)] |, ,|
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TrigonometryExercise3 for No.9784

i 3n 1 |
1= 6= i} )
2 4 1=90° 6=(-750)°
P L 2=(45)°  .7=480°
4 3 3=(-330)° .8=(-2025)
5m 83 7 o
Nol=| 3=—""" 8= ,No2 = o 270
6 6 4 =240 9=|—
T
4__5_11: 9_1 (6]
T3 o B o (810
5=(-2520)° .10=
131 L b
S=-— 10=25

j}, Quest:Tan(e)}, , {ﬂ}

No4 = [ Conditionl =[Sin(0) < 0], Condition2 =[Tan(0) = 2], Quest =Sec(0)], , [—()}

No5 :{A =0,B =§, Condition :[Sin(e) =é}, Quest =[Cos(0) — Tan(e)]}, , [ﬁ}

4= Coin= 5013 e

No6 =| A=—", B=m, Condition =| Sin(0) :g , Quest =[Cos(0) —Cot(0)] |, ,| —
3n -2 :

No7 = [A = 7, B =2, Condition = [Tan(e) = ?}, Quest =[Sec(0) — Csc(e)]}, , {—}

== Comin = )3 | | [
No8 = A=n,B=T, Condition = Csc(6)=; , Quest =[Cos(0)+ Tan(0)] |, ,| ——

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

No3 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Sin(0) =

N—
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TrigonometryExercise3 for No.10143

T 327t |
I=— 6= _ .
2 3 1=180° 6=1035°
L, e, B 2=240° .7=(-1770)°
6 4 3=135°  .8=(-2760)
T 731 o
Nol=| 3=——" 8= , No2 = o 180
4 6 4=150° 9=|—
5 "
5=1800° .10=|-—
31 L T ) ]
S=- 10=0.5

2
No3 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Sin(0) = —} Quest = Cot( 6) |:

\jh

No4 = [ Conditionl =[Cos(0) < 0], Condition2 = [Cot(0) =-3], Quest =Sin(0)],

i‘

No5 =[A = O,Bzg, Condition =|:COS(9) :%}, Quest =[Csc(0) — Cot(e)]} ,{

Nob6 = {A:% B=2m, Condztzon—[Cos(E))— 3} Quest=[Tan(0) — Sln(e)]} ,[

No7=|A=mn,B :32_719 Condition :{Sec(e) =-1?0}, Quest =[Cot(0) + Sin(e)]}, , [ }
No§ = [A _ g B =, Condition = [cm(e) _ ﬂ OQuest = [ Csc(0) - Sec(e)]}, , [L()}

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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TrigonometryExercise3 for No.10359
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i T 377 |
I=—  6=- _ _
2 6 1=270° .6=(-1020)°
L, e, D 2=(-135)° .7=(-510)°
6 4 3=30° .8=(-1575)°
T 25w o
Nol = 3= 8= ,No2 = o 90
4 3 4=(-240)° 9=|—
4=— 9=5 o
T3 oo - 0 _[ 720
5=(-1530)° .10=
15n L b
S=-T 10=25

2
No3 = [ Conditionl = [ Sin(0) = g}, Condition2 = [ Cos(0) < 0], Quest = Tan( 9)}, ,

No4 = [ Conditionl =[Csc(0) < 0], Condition2 = [ Tan(0) = 4], Quest = Sec(0)],

No5 = {A =0,B =§, Condition = |:COS(e) =§}, Quest =[Sin(0) + Tan(e)]}, , [

Noéz[A =7n,B= 2 7, Condition :[Tan(e) :ﬂ, Ouest = [ Sin(0) + Sec(e)]}, {
N07=[A zg, B =, Condition :[Sin(e) :14—1}, Quest =[Cot(0) — Sec(e)]}, ,[

== Comtin=| o= | } [
No8 = A=n,B=7, Condition = Cos(9)=g , Quest =[Csc(0)+ Cot(0)] |, ,
0011]

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

2

. 1
«\é..ﬁ..

o e P B o R
L | I |

I



):9:9:9:9:9:9:9.9:9.9.9.9:9.9:9.9:9.9:9.:9:9.9:9.0.:9.9:9:0:9:0:9:0:9:0:0:0:9:0:9:0.:9:0.9:0.9.9.9.0.9.0.9:0.9.0.9:0.9:9.9:9.0:9.9:9.9:9:9:9:9:9:0:0:0:0:0.:9:9.9:0.9.0.9.9.9.0.9.0.9.0.9:0.9.0.9:0.9:0.0:0.0:0.0:0.9:0:9:0:9:0:9:0.0.0:0.¢
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TrigonometryExercise3 for No.10626

R 597
d=—  6=- _ _
2 4 1=90° 6=(-510)°
S5m 731 2= o _ [
Lo 2T, .2=(-150) .7=945
3 6 3=(-120° .8=(-1380)°
T 197w o
Nol=| 3=— 8= ,No2 = o 180
4 3 4=(315)° 9=|—
7n T o
.4: 6 9:7 o 50
5=1440°  10=|-——
11w L T J ]
5= 10=55

4
No3 = [ Conditionl = [Tan(0) < 0], Condition2 = |:COS(9) = ;}, Quest = Sin(e)}, , [
No4 = [ Conditionl = [0 < Sin(0) ], Condition2 =[Cot(0) =-1], Quest = Cos(0)], , [

No5 = [A =0,B= g, Condition = [Tan(@) = 3}, Quest =[Sec(0) — Csc(e)]}, , {—}

No6 = {A :g, B =, Condition =[Sin(e) :ﬂ Ouest = [Cot(0) — Sec(O)]}, {—}

N—
I

No7 = {A =m,B :3771’ Condition = [Tan(e) zg}, Quest =[Sin(0) + Sec(e)]}, , [—(

No8 = [A =377c’ B =2 n, Condition = [Cot(e) =%}, Quest =[Sec(0) — Sin(O)]}, , {—()}
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TrigonometryExercise3 for No.11002

R 571
I=— 6=- _ ]
2 4 1=180° 6=750°
L., Dr 2=(-225)° .7=(-1575)
6 6 3=(-330)° .8=(-1680)°
R 87 o
Nol=| 3=—  8=—— | No2= . 360
4 3 4=(-240)° 9=
I S i
=73 9= B . (630
5=(-720)° .10=
17 L T J
S=- 10=-15

1
No3 = [ Conditionl =[Csc(0) < 0], Condition2 = |:COS(9) =

5}, Quest = Sin(e)}, ,l:

No4 = [ Conditionl = [Sin(0) < 0], Condition2 = [ Cot(0) =-3], Quest = Cos(0)],

2

EHE

No5 = [A =0,B :g, Condition = [Tan(@) :g}, Quest =[Csc(0) — Sec(e)]}, ,{

N06={A =§, B =m, Condition = Tan(0) =-1], Quest =[Sec(0) — Sin(@)]}, ,[
N07={A =3TR,B=2 n, Condition ={Cos(9) =§}, Quest =[Tan(0) + Csc(e)]}, ,[ }

4= contion=| 03 | | [
No8 = A=n,B=7, Condition = Csc(9)=; , Quest =[Sec(0) —Tan(0)] |, .|~

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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TrigonometryExercise3 for No.11188
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[ T 79 1t |
I=— 6= _ _
2 6 1=270° .6=(-960)°
L, 3 B 2=(45)°  .7=1755°
4 3 3=(-150)° .8=(-1590)°
K 19w o
Nol=|.3=—— 8= , No2 = . 180
6 4 4=240 9=|—
T
4=——  9-6 o
A - 0 _[ 450
5=(-1440)° .10=
257 L T J |
5= 10=3.5

1
No3 = [ Conditionl = {Cos( 0)= 5}, Condition2 = [ Tan(0) < 0], Quest = Sin( 9)}, ,

No4 = [ Conditionl = [0 < Sin(0) ], Condition2 = [ Cot(0) =-5], Quest = Cos(0)],

T
N05={A ZO,B:E, Condition :[Sin(9)=

N08=[A =T, B=—n, Condition = [Cot(0) = 1], Quest =[Cos(0) + Csc(@)]}, ,{

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

7}, Ouest = [Cot(0) + Cos(e)]},
No6 = [A :g, B =, Condition = [Tan(e) - ﬂ Ouest = [ Cse(0) — Cos(@)]},
3

N07=[A =—n,B =2 1, Condition = [Csc(0) = -7], Quest =[Sec(0) + Cot(e)]},

2

| A E—

1

1

1
1

<[5
| |

=[5
| I

| I
| IS
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TrigonometryExercise3 for No.11505

37 47
= 6= i} )
2 3 1=180° 6=1305°
P L L 2=300°  .7=(-2310)°
3 4 3=(-150)° .8=(-780)°
77 43 o
Nol=|3=—" 8=-— ,No2 = o 90
6 6 4=(-135) 9=|—
T
PR P 0
YT o B 0 [ %00
5=2160° .10=|—
oOn L T |
S=—— 10=-25
i 2 ]

|
|

6

1
No3 = [ Conditionl =[Sin(0) < 0], Condition2 = |:COS( 0)= —}, Quest = Cot( 9)}, , {
No4 = [ Conditionl = [Sec(0) < 0], Condition2 = [ Cot(0) =-3], Quest =Sin(0)], , {

No5 = {A =0,B= g, Condition = [Tan(e) = %}, Quest =[Sin(0) + Sec(e)]}, , {—()}

4= 82 o= o) | [
No6 = A:T,B:2n, Condition = Cos(@):; , Quest=[Tan(0) + Csc(0)] |, ,|— ~

(

N07:{A =§, B =, Condition =[Sin(9) =%}, Quest =[Sec(0) + Cot(e)]}, , {—(}
1m0 o |12

No8 = A=n,B=T, Condition = [Sec(0) =-2], Quest =[Tan(0) —Csc(0)] |, , —(

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXKKKKKXXXKKKKKKKKK XXX XXX KKK KKK KKK KK KKK KKK KKK KKKKKK
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TrigonometryExercise3 for No.12113

[ T 65 |
I=— 6=- ] _
2 6 1=270°  .6=(-1830)°
L2, B 2=240°  7=1035°
3 3 3=135°  .8=(-2760)°
K 331 o
Nol=| 3=— 8= , No2 = . 90
4 4 4=330 9=|—
T
=2 93 0
6 ' - o _[ 20
5=(-720)° .10=
151 L T J |
== 10=-35

No4 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Tan(0) = 3], Quest = Csc(0)],

2

1
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [ Sin(0) = 5}, Quest = Sec(e)}, , l:

ERE

No5 = {A =0,B zg, Condition = [Cos(e) 23}, Quest =[Tan(0) + Csc(e)]}, , {

| IS

3n -1
No6:[A ZT’B: 2 t, Condition :[Sin(G) =5}, Quest =[Cos(0) — Cot(e)]}, ,{

N07:{A =

n,B=3Tn, Condition = [Csc(0) = -2], Quest = [Tan(8) — Sec(e)]}, ’[

|

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

{ n 5 | } [ﬁ}
No8 = A=2,B=n, Condition =[Sec(0) =-2], Quest =[Tan(0) —Sin(0)] |, ,

X [Page = 0016]




TrigonometryExercise3 for No.12541

):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
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i 3n 16 |
= 6= i} )
2 3 1=90° 6=1860°
Lo I, 3T 2=(-45)°  .7=(-585)°
6 6 3=240° 8=2670°
St 55« o
Nol=| 3=— 8= ,No2 = o 180
4 4 4=330 9=|—
T
=2 o-6 0
T3 o B 0 [ 630
S5=(-720)° .10=|-
117w L b |
5= 10=25

2
No3 = [ Conditionl =[Csc(0) < 0], Condition2 = |:COS(9) = g}, Quest = Sin( 6)}, ,

1
I |

No4 = [ Conditionl =[Sec(0) < 0], Condition2 =[Cot(0) = 6], Quest =Sin(0)],

1
No5 =[A =0,B :g, Condition =[Tan(6) :5}, Quest =[Sec(0) — Csc(e)]}, ,{
3n
No6:[A =

n, B = Condition = [Tan(0) = 2], Quest = [Sin(0) — Cos(@)]}, ’[

|

T iy : Vi)
No8=| 4= 2,B=TC, Condition =[Sec(0) =-2], Quest =[Sin(0) — Tan(0)] |, ,
X [Page = 0017]
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| |

2

«‘é\“é\
| I

N07=[A =TR,B=2 nt, Condition = [Csc(0) =-3], Quest = [Sec(6)+C0t(9)]}, ,

(IR T
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TrigonometryExercise3 for No.12590

[ 21w
d=x 6= _ _
4 1=270° 6="780°
Lo, 32 2=330° .7=1485°
6 3 3=(-135)°  .8=1950°
41 T3 1 o
Nol=| 3=—— 8= No2 = ) 90
3 6 4=120 9=|—
T
T o
5=720°  J0=|-—
251 L T A
S=-"7 10=-65

1
L 1

5
No3 = [ Condition] =[Tan(0) < 0], Condition2 = [Cos( 0)= H}’ Quest = Csc( 6)}, ,

| |

No4 = [ Conditionl =[Sec(0) < 0], Condition2 =[Cot(0)=3], Quest =Sin(0)], ,

| IS

No5 =[A =0,B zg, Condition =[C0t(9) =§}, Quest =[Sin(0) — COS(@)]:|, ,[

=[5
|

Nob6 = [A =7, B= 37n’ Condition = {Cot(e) = i}, Quest =[Sec(0) — Csc(O)]}, ,{

| I

3 -7
No7 = [A :—n, B =2 n, Condition = [Tan(e) :E}, Quest =[Sin(0) — Sec(e)]}, ,

E

No§ = {A _ = B—n, Condition :[Sin(e) =§} OQuest = [ Sec() CO‘[(G)]}, { y

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXKKKXXXXXXKKKKKKKK XXX XKLL KKK K KK KKK KKK KKKKKKK




X

[Page

):9:9:9:9:9:9:9.9:9.9.9.9:9.9:9.9:9.9:9.:9:9.9:9.0.:9.9:9:0:9:0:9:0:9:0:0:0:9:0:9:0.:9:0.9:0.9.9.9.0.9.0.9:0.9.0.9:0.9:9.9:9.0:9.9:9.9:9:9:9:9:9:0:0:0:0:0.:9:9.9:0.9.0.9.9.9.0.9.0.9.0.9:0.9.0.9:0.9:0.0:0.0:0.0:0.9:0:9:0:9:0:9:0.0.0:0.¢
TrigonometryExercise3 for No.12621
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i T 441 |
d=— 6= ) _
2 3 1=270° .6=(-2850)°
L, E  ,__S= 2=(-330)°  .7=2460°
6 6 3=225° .8=(-1845)°
27I 43 T o
Nol=| 3=—""" 8= , No2 = o 90
3 4 4=240 9=|—
n "
.4= 4 9:2 o 990
5=(-2880)° .10=|—
11mn L T J |
S=- 10=-0.5
i 2 ]

1
No3 [Condmon] = |:COS(9) = } Condition2 = [Sin(0) < 0], Quest = Cot(e) {

No4 = [
!
7
:(
&
:(
&
(
No8 {A——B 27 Condmon—[Csc(9)=-6],Quest=[C0t(9)+Cos(9)]} ,{

’ }
XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX

|
|

b« =

[ Conditionl = [0 < Sin(0) ], Condition2 = [ Tan(0) =-7], Quest = Cos(0)],

No5 [A O’BZE’ Condition:{Cot(e)zé} Quest—[Sec(6)+Csc(9)] ,[
No6 {A—%,an, Condition:[Sin(O):z} Quest—[Sec(9)+C0t(6)] {

5
No7 [A n,B= 5 Condition = {Cot(e) :Z}’ Quest =[Cos(0) Csc(e)]} ,
B 3n

0019]

<[5
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TrigonometryExercise3 for No.12641

107
I=m 6=— _ _
3 1=270°  6=2190°
L, Ir B 2=315° . 7=(-2640)°
6 4 3=330°  .8=2475°
37 VAR o
Nol=|3=—" 8= , No2 = o 270
4 6 4 =60 9=|—
57 T o
.4:— 3 9:6 o 810
5=360° 10=|-——
57 L s 2
S=—"— 10=65
i 2 ]

2
No3 = [ Conditionl = [ Sin(0) = —} Condition2 = [ Tan(0) < 0], Quest = Cos( 9)

b«ﬁ

| I

No4 = [ Conditionl =[Sin(0) < 0], Condition2 = [ Tan(0) =-1], Quest = Cos(0)], [
No$5 = [A =0,B =§, Condition :{Sin(e) =%}, Quest =[Sec(0) + Cot(e)]} , {—

(

No6:[A =T, B:%, Condition ={Cot(6) = 5} Quest =[Cos(0) + Csc(@)] { ()

~ ,.\
| I |
|—I

N07:[A=§,B:Tc,Condition:[Cos(O)zﬁ} Ouest = [ Cse(0) — COt(e)] [—(

No8 = {A—%B 2 rt, Condition = [Csc(0) =-2], Quest =[Tan(0) — Sec(@)]} ,{ }
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«‘ﬁ
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TrigonometryExercise3 for No.12674

R 21 m
I=— 6=- ] _
2 4 1=90° .6=(-2115)°
L3, 10r 2=(-150)° .7=(-840)°
4 3 3=60° 8=1410°
Sw 537 o
Nol=| 3=—"  8=- ,No2 = o 360
3 6 4=(-315° 9=|—
I "
4= 6 9=5 . 630
5=720°  10=|-—
11w L T J |
5= 10=35

5
No3 = [ Conditionl = {Cos( 0)= ;}, Condition2 = [ Tan(0) < 0], Quest = Sin( 9)}, ,

No4 = [ Conditionl = [ Cot(0) =4], Condition2 =[Csc(0) < 0], Quest =Csc(0)], ,

 —
L

No5 = {A =0,B =§, Condition :[Sin(e) =§}, Quest =[Cos(0) + Tan(e)]}, , [

Spa

|

Noéz{A :3775, B =2, Condition =[Csc(0)=-2], Quest =[Cos(0) — Cot(O)]}, ,{

~

2
&
:(
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3 8
No7 = {A =m,B :Tn’ Condition = [Tan(@) :g}, Quest =[Cos(0) + Csc(e)]}, ,

No§ = [A =§, B =, Condition = {c%(e) _ ﬂ OQuest = [Tan(0) + CSC(@)]}, , {
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TrigonometryExercise3 for No.12728

91w
A=z 6= _ _
6 1=90° .6=(-1200)°
R e LA 2=300°  .7=(-2745)°
3 4 3=(-30)° .8=(-1830)°
K 34 o
Nol=|3=—" 8= ,No2 = o 180
6 3 4=(-315° 9=|—
3 "
5=1440° 10=|-—
191 L T J ]
5= 10=55

=[5
| |

3
No3 = [ Conditionl =[Sin(0) < 0], Condition2 = [Cos( 0)= E}, Quest = Cot( 9)}, , [

L 1

No4 = [ Conditionl =[Cos(0) < 0], Condition2 =[Tan(0) =2], Quest =Csc(0)], , [

5
No5 = [A =0,B zg, Condition = |:COS(9) :E}’ Quest =[Sin(0) + Tan(@)]}, ,{

NShS

~

|

3n
N06:[A :7’ B =2mn, Condition =[Csc(0)=-4], Quest =[Cos(0) + Tan(@)]}, ,

L

N07=[A zg, B =, Condition z[Cot(G) 2%}, Quest =[Csc(0) — Sec(e)]}, ,[ v
| [

DG BT ISRV 1D19:0:0:0:0:0.0:0.0.9:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0:0.0.0.9.0.0.0.0.0.0.0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.0:0:0:0:0:0:0:9.9.0.0.0:0:9.0:9:9:9:9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.4

3 4
No§ = [A B 7“ Condition = [ Sin(0) = 7}, Quest = [Tan(0) — Sec(6)]
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